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4[Option ID=13172]

Sl. No.94
QBID:195094




T WHN SFEI OH @FE FRd Tged ¥ WX 91 |@F 95 wifFd @ der U HI

I 1o o | 1 O o M 1 1 M 11 = S e A O | e e e
T A ArETes 3o 1 TR 9EE W IEE RS SR MR 94 aEE ATHE R oW fasEd w9
R = R R L1 o o e o = o e 2 B = A = 4 B | 2 2 1 e RS e

TERE 9FF W TAEE TEEE W@ CUed JFE SHIE RISE SR OEM UMEEsE T STERET 1oOrE

AEEE, AE 1 TEFEN-ATSN T Gor dEddn wd AEl 959 AR aFA A1 femer ufies oy T

e, @, 9F ®9 %, WE 0 AEE] eEas §Ead, SAaE (9eaE, 99 @, d9hE AR 3E SRE

TE T FEE WE e TR

WEg I OE gEE O9EE AN 9Ed 3 W= 99 9EE AEE A JarTE S8 FE 999 F1E
T OGN FEEE F AR S S AW 2 HEE WSl 9 #eHvs S[EiaE En el g 1 "

IR OFIEY. 9ER AFEET 7 AR T A FEEE SR deiE R W@ gqErE 90 aEsm aEn
T AE T e W S W foeee W BeW TE A 9 NEOEEE Sl
TEfga] AN AHEET AER SfEE 5 EE -

1.9 AR @ 9E w1\1E
2. TiEfE WE O

3. 9EAE HifE SR ANEE SER S

4. T9EF T 990 ¥R TE TR HAEETT
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13173]
2[Option ID=13174]
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(3) 3
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3[Option ID=13183]
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(4) 4
1[Option ID=13185]
2[Option ID=13186]

3[Option ID=13187]
4[Option ID=13188]

Sl. No.98
QBID:195098




TN WTFH T30 O @FE FE4 WERE U AN 96 @E 100 Fiad W 9e T )

r«y IR -9 9F 1 FE6EE T 9EE FT dREE A9 F19 HBiE @E SErEd F10 I9EE 36
THEE 1 g4 HHEN H{ 1 E TEEEE, JEE 1 SiEEe AR ﬂg—ﬁ AT ATEEE WE A 99 dFEE 5]
A, U FEAE F1 A 9 I SEEE Al TS, @ O € ATEH SEAHE F=E 1
EEIH HWWWWWWWJ‘HHH’?WWI T T 1737 ©@F T4 wfE
AT IEHETE] qeEH], THEM gd 9 qEm 1 AR WHfEE] g2 EE SR o fa sred T s ST,
EE T FNA WE TR OF EE RS A @9 FR 35% 9% a9RFE AF EE AR E REE OER
TWTIHHWTHT{F?[Q’T{WI T TErE AEl W A F7 e 1 giEE F] O§EE FH AR
WRE FENA FAE ATGFR IASTE FH AREEN G 1863 W@ IIEE AR 9@l 1 SIEEE AR FEEEE
FEME TS SERR F] EE aﬂﬁq?rx FIUS[ B4 AT, WWF—FH'{I? 1 :TUWIII’T‘?EEEE a4 3R
_-!'I_“'?I_-I' 34'|'ﬁ‘:l?|'{ 'i‘e-IIC;ﬂH{I 31—[ “Hﬂk 31I¢I'-I 'BTF!T L ‘5||Q|d|':§'| ‘-I"*L'-I =4 ﬁr‘ij—m U-Hﬂr =qH q _""I“' AqTeAT tl'-i'IEF'iTH
ﬁmﬁ??mﬂﬂw—m—ﬁaﬁﬁm TR, Sed, B WER, sise, fron, fewe e 18
IWWWWWW m%amaquﬁﬁm ?ﬁﬂa@aqﬁﬁ:‘wﬁﬁ?w
F d TP, /T FHATE ] o o1l HEEd TF e %99 TNE 7 AMY TEE FEN gE-gE 7 R
“T'Hﬁrﬁﬂ TH FEUEed oM TIE-TIE FE vmui &l ‘-Iqﬂ AN TEY T T

1.1700 H=EL
2.1737 9
3. 1863 T
4.18871 HMeie

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=13189]
2[Option ID=13190]
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1[Option ID=13193]
2[Option ID=13194]

3[Option ID=13195]
4[Option ID=13196]
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P. Q) and R among those cars sold. Total number of Maruti Cars sold in
these cities 15 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

. 04 Distribution of| Proportion of Car Models Sold
City | Sold Cars P Q R

A 14.30% 7 7 4

B 16.20% 2 3 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12 60% 2 2 1

F 21.70% 3 2 5

5 dIfcieT & B Texi A-F J A101d DRI &1 T8 &1 (i) W= (%) f[aaR &R (i) §7 941 18 @RI 8 oA
ATSA P, Q 3R R &1 U0 ST TATE | 57 X6X H al 715 PRI &1 e HB=AT 90,000 § | AP &
bS] B YR TR WY BT 3R alfeld |

TG &l 715 PRI BT AR (0) e el
P Q R
A [1430% 7 7 4
B [1620% 2 5 2
C  [18.40% 3 3 4
D [16.80% 4 3 2
E  [1260% 2 2 1
F [2170% 3 2 5

What 1s the number of Model-Q cars sold in all cities together?

1. 31255
2. 31355
3.31455
4. 31555
(1) 1
(2) 2
(3) 3
(4) 4

Tt weRl © o e 0isd Q $i &=t 7Tg BRI B G- F1 8 2

1. 31255
2.31355
3. 31455
4. 31555
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13201]
2[Option ID=13202]
3[Option ID=13203]
4[Option ID=13204]
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P. Q) and R among those cars sold. Total number of Maruti Cars sold in
these cities 15 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

. 04 Distribution of| Proportion of Car Models Sold
City | Sold Cars P Q R

A 14.30% 7 7 4

B 16.20% 2 3 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12 60% 2 2 1

F 21.70% 3 2 5

5 dIfcieT & B Texi A-F J A101d DRI &1 T8 &1 (i) W= (%) f[aaR &R (i) §7 941 18 @RI 8 oA
ATSA P, Q 3R R &1 U0 ST TATE | 57 X6X H al 715 PRI &1 e HB=AT 90,000 § | AP &
bS] B YR TR WY BT 3R alfeld |

TG &l 715 PRI BT AR (0) e el
P Q R
A [1430% 7 7 4
B [1620% 2 5 2
C  [18.40% 3 3 4
D [16.80% 4 3 2
E  [1260% 2 2 1
F [2170% 3 2 5

What 1s the difference between Model-P cars sold in city-D and city E ?

L2184
L2204
. 2294
L2244
(1)1
(2) 2
3) 3
(4) 4

eI D AR eI E f9P] Oisd p &RI & a9 &7 AicR a1 g 2

B R

L2184
2204
. 2294
L2244
(1)1
2) 2
(3) 3
(4) 4

B R

1[Option ID=13205]
2[Option ID=13206]
3[Option ID=13207]
4[Option ID=13208]
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P. Q) and R among those cars sold. Total number of Maruti Cars sold in
these cities 15 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

. 04 Distribution of| Proportion of Car Models Sold
City | Sold Cars P Q R

A 14.30% 7 7 4

B 16.20% 2 3 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12 60% 2 2 1

F 21.70% 3 2 5

5 dIfcieT & B Texi A-F J A101d DRI &1 T8 &1 (i) W= (%) f[aaR &R (i) §7 941 18 @RI 8 oA
AISA P, Q 3R R &1 SUId GREITAT S | 5 W8 H al 71g PRI &1 Pel AT 90,000 § | AlfCID] &
HHS] & SMUR W UY BT 372 gIoIg |

:
:
:

WX &9 Ty BRI B G (%)

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

o
=

=l

=1 ) =
b [l [ ] s

el il=sl il Wl (v~ =S

LA | || B || s || B [ =

[}

z

The number of Model-P cars sold in City D is approximately % of the number of Model-R cars sold in
City A

145
185
83

235

1
2.

3.
4.
(1) 1
) 2
3) 3
(4) 4

er D & foe! Oisd p R &1 T T A T 991 A1SA R FRI 31 T671 1 AU fda= W= (%) € 2

1. 145
2. 185
3. 83
4,235
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=13209]
2[Option ID=13210]
3[Option ID=13211]
4[Option ID=13212]

Sl. No.104
QBID:5201004




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P. Q) and R among those cars sold. Total number of Maruti Cars sold in
these cities 15 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

. 04 Distribution of| Proportion of Car Models Sold
City | Sold Cars P Q R

A 14.30% 7 7 4

B 16.20% 2 3 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12 60% 2 2 1

F 21.70% 3 2 5

5 dIfcieT & B Texi A-F J A101d DRI &1 T8 &1 (i) W= (%) f[aaR &R (i) §7 941 18 @RI 8 oA
AISA P, Q 3R R &1 SUId GREITAT S | 5 W8 H al 71g PRI &1 Pel AT 90,000 § | AlfCID] &
HHS] & SMUR W UY BT 372 gIoIg |

WX &9 Ty BRI B G (%) 3?!‘111 5 il 1R

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

=l

bt || e || b2 || B ]| D

el il=sl il Wl (v~ =S

P || B || Lad || L || n
LA | || B || s || B [ =

[}

Number of cars sold in City F 1s approximately % more than the number of cars sold in City B

13
34
21
2T

bl e

(1) 1
(2) 2
3) 3
(4) 4

e F 1 0% ORI 1 GoI TeR B § 841 T8 BRI &1 T/ 9§ T4 o 0ia<id (%) 3@ g 2

13
34
21
A ]
(1)1

2) 2

(3) 3

(4) 4

Ll ol

1[Option ID=13213]
2[Option ID=13214]
3[Option ID=13215]
4[Option ID=13216]
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (11) the proportion of three models P. Q) and R among those cars sold. Total number of Maruti Cars sold in
these cities 15 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

. 04 Distribution of| Proportion of Car Models Sold
City | Sold Cars P Q R

A 14.30% 7 7 4

B 16.20% 2 3 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12 60% 2 2 1

F 21.70% 3 2 5

5 dIfcieT & B Texi A-F J A101d DRI &1 T8 &1 (i) W= (%) f[aaR &R (i) §7 941 18 @RI 8 oA
ATSA P, Q 3R R &1 U0 ST TATE | 57 X6X H al 715 PRI &1 e HB=AT 90,000 § | AP &
bS] B YR TR WY BT 3R alfeld |

TG &l 715 PRI BT AR (0) e el
P Q R
A [1430% 7 7 4
B [1620% 2 5 2
C  [18.40% 3 3 4
D [16.80% 4 3 2
E  [1260% 2 2 1
F [2170% 3 2 5

What 1s the ratio of the number of cars sold in City C to the number of Model-Q cars sold in City D?

. 19:5
.27:8
23T
-33:10
(1) 1
(2) 2
(3) 3
(4) 4

e ¢ 1 901 7T BRI 31 T¥eA1 SR WEI D W A5 Q I [90! BRI &1 W@ & &9 &1 U1 1 g 2

19:5
278
23:7
.33:10
(1) 1
(2) 2
(3) 3
(4) 4

B R

i ol

1[Option ID=13217]
2[Option ID=13218]
3[Option ID=13219]
4[Option ID=13220]
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Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

Move swiftly and get as close to the misbehaving student as possible.
Ensure that there are several witnesses to the confrontation.

Be respectful, brief but assertive.

Use a loud voice to establish power.

P

gl o

(1) 1
(2) 2
(3) 3
(4) 4

%Wﬁ?W%mﬁwﬁ%mﬂuaﬁaﬁ?@mﬁmm%Wﬁ%ﬁ@ﬁwmﬁm
DI E 2

1. TEHTd 3HE SIGeR ®3- ard faeneff & gur Ty e g o |
2 %gﬁfmaﬁ%maﬁ%mﬁam&ﬁﬁi
3. UG, Y&Y § U] Sedrdde ard s |
4. e TITUT B & o7 Sl 1A BT Ig D |
1) 1
) 2
(3) 3
(4) 4

1[Option ID=13221]
2[Option ID=13222]
3[Option ID=13223]
4[Option ID=13224]
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Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Ishita now has attained does not require attention and concentration.
This process is known as which one of the following ?

Flashbulb memory
Schema

. Automaticity

. Procedural memory

e bk

e T2

(1) 1
() 2
3) 3
(4) 4

fRrar 3o arftfes udle O Use g1 4 USTS! 1 31U B3 6l ot | 98 IR a2l 1 gl ave ° ot
| SRIAT Y e o YR &1 911 UId a1 8 398 &= 39 3R & f2d &= &1 3 ddi sl aldl & | 59
giai o FE H A feg s d oA e 2

1. Piel-ged Wi
2. W
3. TWIAIHRU]
4. URb OIS Fd
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]
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Match List I with List IT :

LIST I (MOOCs Four Quadrant LIST II (Component)
approach)
A |Quadrant - I I. |e-content
B.  |Quadrant - II II. |Self-assessment
C.  |Quadrant - ITT 1. |e-tutorial
D |Quadrant - IV IV.  |Web Resources

Choose the correct answer from the options given below :

1. A-IIL, B-IV, C-I, D-II
2. A-IV, B-1, C-III, D-II
3. AL, B-1, C-IV, D-TI
4. A-IV, B-II, C-III, D-I
(1) 1
(2) 2
3) 3
4) 4
= 1 1 T 11 ¥ e Sifee
T 1 (5 & IR TG STHTH) T 11 (UT)
N B i EERE
B. [l I [EHJeA
C. [aem 0L [g-EEhad
D. [MGIv V. [39 9areA
fAafaRad fasedl § I 9t IR &1 99 ifoly ;

1. A-IIL, B-TV, C-I, D-TI
2. A-IV, B-1, C-III, D-TI
3. A-II, B-1, C-IV, D-II
4. A-IV, B-IL, C-III, D-I

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=13229]
2[Option ID=13230]
3[Option ID=13231]
4[Option ID=13232]
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Match List I with List IT

LIST I (Behavioural Models) |[LIST II (Developers / Redevelopers)
A |Mastery learning 1. |Carl SmuthMary Smath
B Gt I Benjamin Bloom/James
Black
C.  |Social learning 1. [BF. Skinner
D Programmed sclhedule (task v Albert Bandura/'Carl
performance reinforcement) " |Thoresen/Wes Becker

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. A B CIV DIl
3. A-II, B-IV, C-I, D-III
4. A-IV, B-1, C-III, D-TI

(1) 1

(2) 2

3) 3

) 4

1 1 1 gl 11 ¥ foe ifee
Ui Fo e M D)
A [ydivrd sfemE PTd ey TR Y
B igan 1L [SSTTH s o s
C. [@HIS® i L. [&. U, pR

o [FOdORHH S @1 | (3 SEET URE A
e gl © ReR

frafafed famedt & 3 et S 31 90 Bifo -

1. A-IV, B-1, C-II, D-III
2. A-II, B-I, C-IV, D-III
3. A-TI, B-IV, C-I1, D-II
4. A-IV, B-1, C-III, D-TI

(1 1

(2) 2

(3) 3

4) 4

1[Option ID=13233]

2[Option ID=13234]

3[Option ID=13235]
4[Option ID=13236]

Sl. No.110
QBID:5201010




Given below are two statements :

Statement I : Sensory memory 1s that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I 1s incorrect but Statement II 1s correct.

(1) 1
(2) 2
(3) 3
(4) 4

B L

FU9 1 798 Tfd ot Tfa ¢ o el afs & o 99 gma € aoea 39 09 TR e @ Terddl
GGl

HUF 11: 378 & Tfd gz Tfd © 5 oftgensdt srar Bt & @op & &9 & 9997 & 99T & fERuT g
g=:aifa & Herdan @l © |

SURITh B & Hieileh . A" GU a0 foheul & A Had 3UYth 3o @l I HIfoIT:

1. ®uer 13 et aer §)

]

. Hy= 13 naat ea &

LIPS ]

. HYF 198 L afa maa9 naed B

4, YU 17T &, AfeheT HAT [IHE &l
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]
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Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected, we say type I error has been made.
Statement IT : If we reject a hypothesis when it should be accepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II is false.
. Statement I 1s false but Statement II 1s true.

e L B2

(1)
(2)
(3)
(4)

P W N =

HU 1.9 & U U UiFheuaT @ THER #d & o9 3Edigd a1 ST 9y g9 ©F 9% A G
¢ fonosud ey 1 gfe & R B

FY 11: 9 & v $ ugseuar # 3EdR 1 € Sdis 59 TdeR o TR, a9 & 98 J=
gaa ¢ fh osae Tsw I Ffe & i §

SURITh HU & el #, T BT a0 [geheul f AU Ut Sl =& Hifau:

1. w7 13k naat v
2. e 13X nEET dEaT B
3. U 1890 L afteg sy sy &)

4, YT 13T &, Al HUT I TH &l
(1)
2)
(3)
4)

A W N =

1[Option ID=13241]
2[Option ID=13242]
3[Option ID=13243]
4[Option ID=13244]
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Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urkund
Quetext

MmO nwp>

Choose the most appropriate answer from the options given below :

A, Band D only
.B, Cand E only
A, D and E only
.C,D and E only
(1) 1
(2) 2
3) 3
(4) 4

Tifefdes IRt &t o &34 & fov g o 2 fo-foem graego:t &1 vai o smars 2

A eHfes
B. 5-9
£,

D. 3PS
E. Hheaqe

- fAu T fow el § ¥ 9ad Iugad SR &1 90 Difoie:

1. Had A, B 3R D
2. %adA B, C IRE
3. A A, DIARE
4. %AAC, D3ARE

(1) 1

2) 2

@3) 3

(4) 4

e R ]

1[Option ID=13245]
2[Option ID=13246]
3[Option ID=13247]
4[Option ID=13248]
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Which of the following methods are used to measure reliability in research?

Chain-referral sampling
Test-retest

Split-half

Inter-rater

Judgemental test

MmO nw>

Choose the correct answer from the options given below :

1. A, B and C only
2. A.Dand C only
3.B.Cand D only
4. C,D and E only

(1) 1

(2) 2

3) 3

(4) 4

Y § fgyg-taar &1 ar94 & fau g o 2 o ottt @ vanr fear s § 2

A, yEen Gaiia ufo=g=
B. WE-Y: &iF

c. fauaas

D. AT FURT Gl
E. O [0 S|

= f4u e fad el © O Jel IR &1 994 Difos:

1.BAAA, B, C
2. HdAA, D, C
3.%dd B, C, D
4. HdAC, D, F

(1) 1
) 2
3) 3
(4) 4
1[Option ID=13249]
2[Option ID=13250]

3[Option ID=13251]
4[Option ID=13252]

Sl. No.114
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Given below are two statements :

Statement I : t-tests are appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.
(1) 1

|




(2) 2
(3) 3
(4) 4

Ry im:
HYAI : -3¢ Dad aul SUYE Bid & 98 AU 1f%d =R Iad 8 |

DY : Plg AR HRAD] §H Iad R PHYID SHhsI a1 BT WINT B Udh e B S B
gl

SWRIFd PU & ATaid H, 1 3 7 fae el § J 981 SR &1 98 S
1. HYFI AR I TH T |
2. FYA IR 1 &FT ST B
3. DY I HI &, Wfhd PYT 1T 319G B

4. BYF1 I &, Al FUT 1 T B
(1) 1
) 2
3) 3
(4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]

Sl. No.115
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Given below are two statements :

Statement I : UGC-CARE list includes all the scopus, web of science, and MLA indexed journals.
Statement IT : Open Access Journals are predatory journals.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1z false.
4, Statement I is false but Statement IT 1s true.

(1) 1

(2) 2

(3) 3

(4) 4




R TRy E:
HYA 1 : ToE-HUHRE, ol T 1 109, 99 S Higd SR UTHUAY YA16G o-d A eid © |
HUT 11 : o A T gy sHA e © |
SIRIdd Y & 3HTaid H, 1< fau MU fdeedl # 3 96l S o1 994 ST
1LBYTIARTGHITA T |
2. FUA AR I GHI 3HT T |

3. HYT 1 I ©, Afh HUF 11 JTT &

4. Y1 I B, AfpT FUT 11 T B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]

Sl. No.116
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The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

. Stable identity

. Social harmony

. Positive public opinion
. Stereotypes

(1) 1

(2) 2

(3) 3

(4) 4

ARl 1 qauRonaf, dev & Rl iR ggl d ofadl & Ui 394 9 Siffd siigiodl & TR &1
fafeRad o 3 @ gRomE glar s 2

1. R ygaH
2. T 9igTe
3. GHRIES A
4. vi¢asdd (KIRgiegw)
(1) 1
(2) 2
(3) 3
(4) 4

| S

S ]

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]
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In mass communication the audience is:

1. Identifiable

2. Relatively small
Heterogeneous
H

3
4. Homogeneous
1) 1
(2) 2
3) 3

(4) 4

oF SR & g FeffGa i e ga g 2

SR
. 3U&THd HH HeT H
fawmzdt
ol

R

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]

Sl. No.118
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The meanings of visual images depend much on:

Individual perception

Social perception

Political links

Economic benefits
Representational Connections.

monwe

Choose the correct answer from the options given below:

. A, B and C only
.B, Cand D only
.C.D and E only
. A, B and E only
(1) 1
(2) 2
3) 3
(4) 4

e R R ]




aege fofal & o g O 9 f R 1l R avd § ¢

A. Jufdds arY
B. 9IS €Y
C. ToHifa® 9ud (@)
D. 3fifife Tgfaumg
E. Tfaffae day
= f4u e fad el O O Jel 3T &1 994 Difos:

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]

Sl. No.119
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Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4

|




TR eEfume:

FYF 1 - GUNU BT SR THRIAD WaAdl & 330 1 URd T IHdl & T9U 59 IHRIED JHE B
S el fpa ST aHar g |

DU 11 : §ad ST9R ®A & USH YHIG 7 SRURE T&h D 31 1 W0 DI HTURN DI §ART B
fearg |
SWRIFd &Y & 3dTdid H, i fU T fae el & 4 el Gk &1 =g DI

1. BY1 AR 1S A

2. HUAI 3R 11 AT 3R |
3. YT I T . AP HYT I ITT© |
4. FYTI T e, AT SUT I TTE |
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13273]
2[Option ID=13274]
3[Option ID=13275]
4[Option ID=13276]

Sl. No.120
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Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement IT : There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I 1s incorrect but Statement II 1s correct.

(1)1

(2) 2

(3) 3

(4) 4

-4 31 A AU U §: Uh HTUSYUT (Assertion A) & =0 H [T 8 dI GERT 3UD BRI (Reason R) &
oY T:

HIUBYUA A - Teg] B &TA 1 T B 1Y DI, HaY 5 AT 81 ¢ |
HRUTR : YUY B GHT 721 B! [FUMT 3R T B @F I YR g |
SWRIA Y9 & 3dTdid H, = U T fde el § 4 a8 Sugad 3R &1 99 ST |

A SRREH TSI S 3R R, AT Yol RATE |
AMRRIA TSI T AfPT R AP Uel ARSI TRl © |
ATSIEAPIR IEITRIE |
AT e APTIR TSR

(1) 1

bd =

(SR

ES N




(2) 2
(3) 3
(4) 4
1[Option ID=13277]
2[Option ID=13278]

3[Option ID=13279]
4[Option ID=13280]

Sl. No.121
QBID:5201021

Find out the third common term between the two given Arithmetic Progression (AP) series given as :

: T O and 1, 6, 11, 16.

B N
[
i

1) 1
(2) 2

(3) 3

(4) 4

gifed o =u d &l < it geaR 4ol (dh) & 99 dies 9E= 98 &I 1 Difeg
i S o 3 15

1,6.11.16 ........

31
.43
i |
.47
1) 1
(2) 2
3) 3
(4) 4

B

1[Option ID=13281]
2[Option ID=13282]
3[Option ID=13283]
4[Option ID=13284]

Sl. No.122
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A person can do a piece of work in 18 days. After working for 12 days. the person leaves and another person
joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole
job?

20
24

2’1

18

i L b

(1) 1
(2) 2
(3) 3
(4) 4




AR IH S A TR Ipag | R el em Fuyd g afdd s oI sis 3ar e
3R TR e B &1 G ARH HIA1 & a9l U9 S 1 8 G731 H QI oal © | 98 8 oo 59 I
& $I fore & B QU dR Il g 2

20
24
29

18

el

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]

Sl. No.123
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The average salary of 25 workers in an office 1s Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6.200. What 1s the annual salary of the manager?

. 73,200
. 1,34,400
. 1,58.600
. 1,03,200
1 1
(2) 2
(3) 3
4) 4

it epraferd H BRI 25 YTHe] &1 37d 9 6000 ¥U HIGHTES § | UfE SHH Weed Bl aa- 4l offs
fear Siran @ 1 98 3id 6200 39U B ST & | Yaed &l alftds da- a1 g 2

=

S ]

73,200
- 1,34.400
.1,58.600
.1,03,200
(1 1
(2) 2
(3) 3
@) 4

Fa =

ES N

1[Option ID=13289]
2[Option ID=13290]
3[Option ID=13291]
4[Option ID=13292]
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In what time a sum of money will double itself at the rate of 8% per annum simple interest?

. 10.5 years
. 12.5 years
. 8.5 years

. 11.5 years

| S

N =

1 1
(2) 2
3) 3




(4) 4

BIg U T 8% HiTas IR &7 B &R ¥ fava 90g & gl o) S 2
1.10.5 9%
2.12.5T9
3.9.5TY
4.11.5T%
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]

Sl. No.125
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A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one at a
loss of 20%. What 1s the net gain or loss to the shop keeper?

1. Aloss of Rs. 1000
2. A gain of Rs. 1000
3. Aloss of Rs. 3,000
4, Aloss of Rs. 1,500

(1) 1

(2) 2

3) 3

(4) 4

fepdt gPpTTER- &1 axgafl & I Ude DI 12,000 TYT H &1 | 31 UP 9% Bl 20% & WY TR &= Ud g8
A% Bl 20% BI I R &1 | gHHER DI ol a1 A1 gl fba-i g 2

. 1000 9T i BT
. 1000 YU BT dTH
. 3000 SUU &1 B
. 1500 9T i 81

(1)1
(2) 2
(3) 3
(4) 4

| S

ES S

1[Option ID=13297]
2[Option ID=13298]
3[Option ID=13299]
4[Option ID=13300]

Sl. No.126
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Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology, and none of them has ever succeeded. Therefore. we must conclude that
astrology's claims are true” ?

1. Slippery slope

2. Hasty Generalization

3. Aurgumentum ad Ignorantian (appeal to ignorance)
4. False Cause

(1) 1




(2) 2

(3) 3

(4) 4

FafaRed giaa & @11 1 SFTSIRS ad-ai ¢ - iadl I aqi-d Sy & ardl &1 Gfed S &1 Wid
mﬁ%ﬁﬁaﬁwﬂﬁ@raﬂﬁlﬂmﬁwﬁg&n%m&eﬁﬁﬁéﬁaﬂwmﬁiﬁ%ﬁ?m
JA 52

Thyagad gar (sl Wi
TR FHSBI

| I

3. IWRIFHAD Gidkd (3T DI SE)
4. TR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13301]

2[Option ID=13302]

3[Option ID=13303]
4[Option ID=13304]

Sl. No.127
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Which of the following propositions can be directly inferred from the statement - "All mammals are four-
legged animals?

. All animals are four-legged mammals.
. No four-legged mammals are animals.
. Some mammals are four-legged animals.
. All four legged animals are mammals.

b =

e T2

(1) 1
() 2
(3) 3
(4) 4

?ﬂﬁﬂ%ﬁﬁﬂﬁﬁﬁ@%ﬁﬁwmﬁmwmﬁﬁﬁmww%umﬂwwzﬁumm

1. ft oy F o TR E |
2. ®Ig Wi I WAYR 9 ARl © |
3. 90 WAYRI AUATIY S |
4. it T Uy YR E |
(1) 1
(2) 2
@3 3
(4) 4

1[Option ID=13305]
2[Option ID=13306]
3[Option ID=13307]
4[Option ID=13308]
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Which of the following statements is contrapositive to the following statement - "Some dogs are not
aggressive animals"?

. Some aggressive animals are not dogs.

. Some dogs are aggressive animals.

. Some non-dogs are aggressive animals.

. Some non-aggressive animals are not non-dogs.

|

e T2

(1) 1
(2) 2
(3) 3
(4) 4

frafeaRad eyl O 9 oF 91 Fafafed ey & giquRaldd & - o o e U el g 2

1. PF MHTHD UL PO TRl ¢ |

2. S P ATHIED U § |

3. T IR0l HHHD U T |

4. TF TR-3MPTHS I IR-F Tl & |

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13309]
2[Option ID=13310]

3[Option ID=13311]
4[Option ID=13312]

Sl. No.129
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Which of the following statements are contradictory to each other?

A. All objects are perishable.

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable.

Choose the most appropriate answer from the options given below:

.Aand D only
. B and D only
. C and D only
. A and C only
(1) 1
(2) 2
3) 3
(4) 4

bd o=

e a2




fFafafd § T oH § oyT R 9T 8 2

A T TEIE TR T |
B. T8 qRC AR TSI ¢ |

C. PT a&L A © |
D &l o TR TG ¢ |

=i AU T fap el § ¥ Ied Ugad SR &1 99 Hifold:

1. Had A 3R D
2. H3d B ARD
3. %ad C AR D
4. FAAAIRC

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=13313]
2[Option ID=13314]
3[Option ID=13315]
4[Option ID=13316]

Sl. No.130
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To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge is used according to classical Indian school of Logic (Nyaya)

1. Perception (Pratyaksa)
2. Similarity (Upmana)
3. Inference (Anumana)
4. Verbal Testimony (sabda)
(1) 1
(2) 2
3) 3
(4) 4

U 918 1 39 O1f B qerd & fou B4 OrieRi= 8 U JTHaTRi 9 OF gST | % YRy </ 0d &
SR (Efefad ¥ 4 17 & forg Qe &1 WaeT fdear ar g 2

1[Option ID=13317]
2[Option ID=13318]
3[Option ID=13319]
4[Option ID=13320]
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Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

. A and B only
. A and C only
.B and C only
A, Band C

(1) 1
() 2
3) 3
(4) 4

A-c?ﬁ@mW{mﬁ@ﬁﬁaﬁﬁm%ﬁwW$ﬁwﬁﬁﬁ
BldE?

A. 7T 34 (Google Earth)
B. G141 (DIKSHA)

C. HTg THFEUT (MySQL)
= feu e faeedi § 9 96l 3Tk &1 994 DIy

1. Bdd A AR B
2. FAAAIRC
3. %ad B AR C
4. A.B3RC

(1) 1

) 2

3) 3

(4) 4

B R

1[Option ID=13321]
2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]

Sl. No.132
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Which of the following statements (A-C) are correct with reference to Web 3.07

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.

B. Centralization is a core tenet of Web 3.0

C. In Web 3.0 world, block-chain based networks, transactions and businesses will thrive in the coming
years.

Choose the correct answer from the options given below :

. A and B only
.Aand C only
. B and C only
A, Band C
(1) 1

(2) 2

3) 3

e L b3




(4) 4

39 3.0 ¥ Yoo # Fpfafed o (a-) A e AT g 2

A. 99 3.0 Ui (Rrsiaa:) waiear S1e1 Ud a4 favgasq &1 Uil &1 Suae HRdl ¢ |

B. BP0 09 3.0 T A Gid § |

C. 39 3.0 THTA SATH g1 § &l =@ IR ST Aeas § oIagR iR oaad Hail-Bai |
I fGu v fow el 5 T U8 3R &1 994 Sielg:

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]

Sl. No.133
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Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement II : [Pv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1)1

(2) 2

(3) 3

(4) 4

| SR




R TRy E:
BY 1 : Soeg S S (WWW) & SHTHRS [qd 129§ |
FUT 11 : IMBUIAI6 (IPv6) TTeidid 120 f9e & M0l Tod &I gRYINd Txdr g |
SWRIGd PYF & 3dld H, Aid 3T Y fdmedl & I Hel SR o1 99 DI
1. YT 3R 11 &HI 9 &
2. FYA T AR I GHI 3T B

3. HYT 1 I ©, Afh HUF 11 JTT &

4. Y1 I B, AfpT FUT 11 T B
1 1
(2) 2
(3) 3
(4) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]
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Consider the following Excel spreadsheet :

[ | S

e[| || || =
|| e D
] =] T
bafl ko] | D

What 1s the value of the formula = SUMIF(B1:B3, "=" & 3. C1:C3)

th T

el e
oo -

(1) 1
(2) 2
(3) 3
(4) 4




fFafaRad T Sstic R GaR #ifvg -

A B C D E F
1 3 3 1 2
2 P, 3 5 2
3 4 5 7 2

A : =SUMIF(B1:B3, ">" & 3, C1:C3) WWW%‘?

b =
-1 Ln L

Pge |
o

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13333]
2[Option ID=13334]

3[Option ID=13335]
4[Option ID=13336]
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Given below are two statements :

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1)1

(2) 2

(3) 3

(4) 4




TR fume:

FHUF 1 : TOH (SWAYAM) BTH & A FSioTee SMaFdl &1 Gk & 9ied & g e Hamed 3R
THTRHICTS (SHUTARIT) GRI [d@Rd @ ©e®H § |

BYUA 11 : Gl TR-qp-11e] Wb RI&T & (AT WH (SWAYAM) BT AP FH-GGS ¢ fored Hida
& & o5 gafaq uraargef fawaasg o1 fHafor sik wemeft @t o |

SRIGd U & ATES 4, 5 fu 7w faw el & O 98 S &1 9 i
1. PYT1 AR 11 AT T B
2. PUTI AR 1T ST ST B

3. U T IA ®, Afp- HYT 11 3T |

4. PYTI I, BT FYT I I E |
) 1
(2) 2
3) 3
(4) 4
1[Option ID=13337]
2[Option ID=13338]

3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.

A. Rivers and streams
B. Fresh lakes

C. Atmosphere

D. Ice and Snow

Choose the correct answer from the following options given below :




gl & S JUEUS| Bl I gRT YIRd & HEH1 & d¢d hH H ogdiRyd Hifurg |

A. Ffear 3R Je-4RT
B.W_Waﬁzﬂﬁ

C.
D.gg\ﬁ?i%q
i fau U fae el T 9§ 9el SR &1 994 Bifor:

1.A.C,B.D
30 AR D
B AD
.A,B.D.C
(1) 1
(2) 2
(3) 3

(4) 4

ES N

1[Option ID=13341]
2[Option ID=13342]
3[Option ID=13343]
4[Option ID=13344]
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Given below are two statements :
Statement : [ Municipal solid waste includes Garbage and Rubbish.
Statement II : Garbage consists of both combustible and non combustible materials.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1)1

(2) 2

(3) 3

(4) 4

i 2 Py Ry g &
HYA 1 TRUNGD] & 319 UMY § Fol-dae (Mad) AR PI3-FHars () G g |
BYT11 : PI-BIBC T SaoRid 3R fcaa-siie i1 Jreeit Jieferd gidl ¢ |
SWRIGd HYF & 3HMdld H, Aid 3T Y [dhedl & I Fel SR @1 99 DI
1. BYFI AR IS 9 ¢ |
2. Y AR I GHI 3HT B |

3. FYTIII 6, AP HYT I AT |

| R

4. BYTIATT B, AfPT HYT I I T |
1 1




2) 2
(3) 3

(4) 4

1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate.

Statement IT : Infectious diseases are likely to increase as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II is false.
. Statement I 1s false but Statement I 15 true.
(1) 1
(2) 2
(3) 3
(4) 4

19 2 Py Ry Iy &
BYA 1 : S T T Sild SR A4 HGHE ST geddl sierarg P At s T 31 s ¥
REEEHIUE
HUT 11 : TEd anri ((Gye ar) & TRumes T G A7 5 gfg B GHIET S |
SWRIdd Y & i 1, A= U 70 faeedl § 3 951 S 1 99 DI
1L BYTI ARG TAE |
2. YA SR GHI 3T |

3. YT I AT B, AP YT I 3T © |

e R ]

4. FYTI 3T R, AfFT FUT I TT R |
1 1
(2) 2
(3) 3
(4) 4
1[Option ID=13349]
2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]
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Major contributor to carbon monoxide emissions in metropolitan areas of India is/are:

1. Industrial Sector
2. Domestic Sources
3. Transport Sector
4. Agriculture Sector

(1) 1

(2) 2

(3) 3

(4) 4

YR & TSR &3 1 STd HHISaEs 3o 1 UHE UrTa (696! g ?

il

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13353]
2[Option ID=13354]

3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements ; One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,
hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.

Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R 1s not the correct explanation of A.
3. Ais true but R is false.
4. A is false but R is true.
(1) 1
(2) 2
(3) 3
(4) 4




- 31 A AU U §: U HTHHYUT (Assertion A) & =0 H [aiRd 8 dl GERT 39D BRI (Reason R) &
SO

HIYUDYT A - T 3HTolebd & dTg+l H Ugdd HIRD-G5 ol &l gIggior ag- & o1l sioierd fohar
ol Tl &, SIS Slo Uad-MuTRd g8 Soid SHad: Bleaio st dle-! &l Hidw Tal & |

HRUIR : T Y BT STAN B gU Blegio Hall i A1Y faqgd ¥ =uiaRol &1 HiUH 34 T |
SIRITd HYF & AP H, 19 f3u T fowedl & 3 98l SR &1 954 Bt |

1LARRIFIIIE IR R AP Gl A& |
2. ARREHI g T, iR, A T8l WRAT T8l © |
3. AT S AfFT R 3R |
4 AITTEAGIR TR |
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13357]
2[Option ID=13358]
3[Option ID=13359]
4[Option ID=13360]
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While planning for higher education development in India in the twenty first century, the guiding principles
should be :

Access
Empathy
Equity
Accountability
Quality

mOnwe

Choose the correct answer from the options given below :

.A, B and E only
.B.C.Dand E only
A, C.Dand E only
.B. C. and D only
(1) 1

(2) 2

(3) 3

(4) 4

|

[ S




SadIgdl 9el & YR & 3= e & 9o & e & gug arfexl fagidl § Fafaad s =ik

A, fimH

B. TR
C

D, FeRald
E. T[Ural
1= fqu e fdeedl § 9 9a9 S9ged 9k &1 99 SIS

1. Bdd A, B AR E

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]

Sl. No.142
QBID:5201042

Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

. Vaisestka

. Nirukta

. Chhanda

. Grihya Sutras

b2 =

S ]

(1) 1
(2) 2
(3) 3
(4) 4

frafeaiad § S oF @ weE usfa gerd SR o aur IuieF ve fagies & oA mafza g 2

1[Option ID=13365]
2[Option ID=13366]
3[Option ID=13367]
4[Option ID=13368]
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According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025.

. 40% of learners
. 50% of learners
35% learners
30% learners

e b

(1) 1
(2) 2
(3) 3
(4) 4

TARU 2020 & SUR, Ihdl 3R 3o 18l USid & SHiErHEdl sl BT fha=1 wia<rd ay 2025 d®
ATGHIAD 16T H i gim 2

1. fermEaiaf o1 40%
2. ferHEatad &1 s0%
3. HferTHSGalel &1 35%
4. ferHE Al &1 30%

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13369]
2[Option ID=13370]
3[Option ID=13371]
4[Option ID=13372]
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Which of the following are the characteristics of non-conventional learning ?

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

1. Aand D only
2. A and C only
3.Band C only
4. B and D only

(1) 1

(2) 2

3) 3

(4) 4




frafeRad o ¥ TR-IRURS e &1 favaid S § 2
A i3 (A% ursg9al T8

B. Riaio-a i it

C. TNTA-UHTdl

D_fafed SuRfd &1 3axus g

S feuw aw @eheul d 8 Tl 3L ol 994 Hifau:

1. %dd A AR D
2. Bad AR C
3. %ad B AR C
4. $aABARD

(1 1

(2) 2

(3) 3

(4) 4

1[Option ID=13373]

2[Option ID=13374]

3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of
India was established in the year :

. 1906
. 1916
. 1964
. 1961
(1)1
) 2
(3) 3
(4) 4

P A-HIied-URYE fSH] I5R WEhd HIUTH &1 TR iR URd (91 Saei sigra &1 fafis wrarsi
T YT TYT W YR FDide SR YR & 11Rd D1 o0 auT SHREU YT, 3961 @49 f6g ay

g di?

. 1906
1916
. 1964
. 1961
1) 1
(2) 2
(3) 3
(4) 4

I e I ]

e b o=

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

What 1s it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors. such as moderator, mentor. or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students. and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse. though 1is the
tact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity. what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

FafaRad e @1 ufed iR U &1 S S|

HTarg el Bt HeTd $3 & AU e’ HI Hd § HYal I 1 DI AMGY 2 $B AN - S[e
@1 YT &7 auid 3 P (18 URFEMS, AP (HER) SiUal YHEGdl oY U [a2y U] 6 s8]
BHE 3R U WY - & O fHU e | W@m%wﬁaﬁm%mﬁ&fhﬁﬁﬁﬁ
YA I § UR+ Wi 30 H 5901 90 g8 U R @S 8H & 9dia-l gl ¢ | 58 Jay & H1ed g i
TR GRI RI& I (SIiRae) 941 § ffties siydl 3-uged drTeH SHE| & GNEH & alfed & gebdl
& | Gl R URFAES ST UsaS e D] Bl God B & dhdod R 3= 390 U T T U1
o & oY T 3 1 a1d Bl § | 599 [daa-Tares e 2d &1 @i ol g off g & WiieR
@1 geTe Qe v 3 e SR Riandl &) gum ufaunt 99 @1 a/d a8 | quifd gaEa & 3
Y& WU & HUCl UG RId B od eid &1 SHHariand 301 $9U R 3816 | graife gad 1
@Eﬁ%%%ﬁﬁ]ﬁm%ﬂ'ﬂ%ﬁw%%ﬁﬁwﬁmﬂmqﬁ@ﬁﬂﬁﬁ?%%
B4 T B 1R | Al TG e b4 Hd ¥ 8¢ oY 3R 391 [dadiied & $o [dar] &1
mmé?%ﬁﬁwﬁ%mﬁ&hﬁm%%ﬁﬁﬁ@w%mmﬁ%m@
faIeTrE © |

What has been done to describe the role of online tutors?

. Add value to their guidance

. Provide them with a warning system

Clarify their duties in fields other than education
. By adoption of certain metaphors

JAE-HI».J'—‘

(1) 1
(2) 2
(3) 3
(4) 4

HIATEH eexi & YfHe1 & quiH & e & fosar g 2

1. 3% AN & egae far 9 |
2. 38 araH! Tt e S
3. 218 9 SR &1 & 399 wdadl &) Wy @Al
4. BIA9Y FUd| DI HUAD
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13381]
2[Option ID=13382]
3[Option ID=13383]
4[Option ID=13384]




Sl. No.147
QBID:5201047

Read the following passage and answer the question :

What 1s it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarity by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence 1s that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students. and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
tact that these formulations guide us about what we shouldn't do. but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

frafafad e o ufed ik vy &1 3w ST

S{iarE el &1 Herad H o (o0 Sex T Hd & SHYdl 376 ol BT A6l 2 $S AFll - ee?
@1 YD1 D1 90 B & ey IRFAHD, TS (HeR) al GHGdl ol =0 A=Y U] B 591
BHE 3R 58 TP T & TIW [PU T | SR egex & 30 H §HR SIGeR & ANYH 3 & Ugl @l
U1 e § WReq Wil ¥ H %1 90 g8 U RS Gs gi- &I Idia-l gdl o | 59 day 7 wied g
SR GRT & (SIeiRae) 7= § faftie iydl 3-uged drTeH SHE| & JgH @ alitid & gdbal
g | grHEdl AR URFAES &1 Usas ek B D1 gad B & Badod R 378 3% AU AT T U
o & o0 gered &3 &t 91d Sedl 6 | 5949 faagaTas Qe 9ea &1 eafi sl & o e & uifier
@1 ger Qs Ta 1 g 3R fRemdf &) qom gfaunh a9 @1 a1d S3dr g | Juiy I9=arss 3
U WU & HUCl UG RId D] od Jedid B AHariaid 301 $9U R 3816 | graife gad 1
Eﬁ@ﬁ?ﬁ%%ﬁﬁyeﬂm%mﬁ%ﬁmﬁ%%eﬁwﬁmmﬁ%&mwﬁﬂﬁﬁ?%‘ﬁi
B T HA1 11U | Al IS ogex $-41d 09 4 g€ oY 3R 391 [dadpiiadl & 9 [aaR] &1
gwégﬁ%@ﬁwﬁ%mﬁwﬁﬁﬁm%%ﬁﬁﬁ@wﬂmmﬁ%ﬁ@
YT § |

What will inhibit student's contribution to tutorial discussions?

. Too much contribution of the tutor
. Disruption during tutorials

. Internal divisions

. Qutside intervention

(1) 1

(2) 2

(3) 3

(4) 4

fRrereTa == 5 BT & TG D1 941 STied ST 2

1. REX DI YD TS
2. reeta o & ERE aauH
3. 3dN® BT
4. ST §I&Y
(1) 1
) 2
(3) 3
(4) 4

| ]

e T

1[Option ID=13385]
2[Option ID=13386]




3[Option ID=13387]
4[Option ID=13388]
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Read the following passage and answer the question :

What 1s it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors. such as moderator, mentor. or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors. but their force is primarily to warn
us to stand aside. The evidence 1s that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse. though is the
tact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity., what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Frafafad T 31 ufed SiR U &1 S aifol |

Harg el Bt Herd $3 & AU SR I Hd & HYal 3 1 AT AT 2 $B AN A S[e
@1 YBT BT aui— H P (18 URFEMES, TS (HER) Siual GHSl oY TYP [a2y U] 6 SHD|
Wﬁ@wﬁ%mﬁm%ﬁw@m%wﬁmﬁm%uﬁﬂhﬁﬁﬁﬁ
YA I § UR= W 30 H 5961 90 g8 U R @S 8H & gdiaHl gl ¢ | 58 ey & |1ed ¢ fh
e GRI RI&H I (SIeiRae) 94l § sfaftie siydl 3-uged drTeH SHE| & GNEH & alftd B gebal
& | gl R URMFAES ST UsaS e B B God B & Pdod R 3= 396 U T T U1
A & foTU e e 1 a1 Rl & | S99 fadaeTer e wRa it @l o & o Riere & wiftier
&l geTax Qfée v § Rigia 3R Rl &) gom ufayrh a9 S e axar & | duif IuEa & 3
Y& W & HUCl UG RId D] §d Jeuid B AHariad 301 $9U R 3816 | graiie gad 1
qﬁwuﬁ%ﬁiﬁrﬁgeﬂm%mﬁ%ﬂaﬁmﬁ%%ﬁﬁwﬁmmﬁmﬁwwaﬁﬁ?%ﬁs
B o1 AT A1 | AfE SR Slex s 1 9 8¢ WU 3R S0+l [dasiiedl & $o [aari &1
mmé?%@ﬁwﬁ%mﬁnﬁﬁﬁm%%ﬁﬁﬁ@w%mmﬁ%uﬁ@
faRIeTE © |

The rhetoric of moderators has the intention to :

1. Displace teachers from teaching
2. Liberate students for their own learning
3. Strengthen the authority of teachers
4. Avoud critical pedagogy
(1) 1
(2) 2
3) 3
(4) 4

IS & TGeaR BT UaeH FE T T8 2

1. TRiarept o1 frgror 9§ fowititg e

2. BHEI DI D U ST & {678 Tod HAT
3. 1&g & WIfUPR &1 e Bl

4. fqd= I AT 9 g &

(1) 1
(2) 2
3) 3
(4) 4




1[Option ID=13389]
2[Option ID=13390]
3[Option ID=13391]
4[Option ID=13392]
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Read the following passage and answer the question :

What 1s it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors. such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their foree is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse. though is the
tact that these formulations guide us about what we shouldn't do. but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

FrafaRad e @1 ufed iR Uy &1 IR Sifo |

HITarg- el Bt HeTIdl $3 & AU e’ HI BHd & 3HYal I o] DI AU 2 B AN - S[e?
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The discourse of participatory learning may result in:

. Abandonment of the online tutorial system
. Vigorous student protestation

. Emergence of dos and don'ts guidelines

. Supervisory role of students

R

(1)
(2)
(3)
(4)

gfaHrT ifeeme gt fouef &1 g & ¥ s oo g1 9@arg 2

1. S RI&D T g BT RGN

2. IR B YiaRiY

3. T B AR a1 9 $L Gaelt feunf=ewr &1 3emm
4. B D1 gdagig YT

(1) 1
(2) 2

A W N =




(3) 3
(4) 4

1[Option ID=13393]
2[Option ID=13394]
3[Option ID=13395]
4[Option ID=13396]
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Read the following passage and answer the question :

What 1s 1t that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors. such as moderator. mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence 1s that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do. but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The passage is an analysis of:

. The traditional educational system
. The new assessment methodology
. Indian vocational education

. Paradoxes of online tutoring.
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